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Fig 4.3 2X|2} X2 (p123)




Fig 4.6 printf()2] MEIX}(p135)
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K| YAt “% [flags] [width] [.precision] [{h |l |164|L}]type”

int printf( const char *format [,argument] ... )

/ 1

int scanf( const char *format [,argument] ... )
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printf() scanf() (“%lf”, “var); (“%lf” var);

double@! &< %n.mf

%c¢C printf/scanf B NS TS
. . =)
%od printf/scanf M - AL 0[5t Kl2l4(g4)
%f double printf [ — A0 CHSH HEFXEKE
%lf double scanf

(ex) printf("%8.2f\n", var);
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1=2/* Programming Exercise 4-1 */
2| #include <stdio.h> #define CRT_SECURE_
3/=int main(void) #include <stdio.h>

O|2(first name) Ql&: 2=
char fname[40];(1 A{last name) 2l&d: =

char lname[40]; =

printf("O|E(first name) YL=H: ");
scanf("%s", fname); 2
printf("A(last name) Y=H: ");
scanf("%s", lname);(3

printf("%s, %s\n", lname, fname); a
return 9;



D2 I3 A& AA

o LH ==
€9 1 error C4996: 'scanf': This function or variable may be unsafe. Consider using scanf_s instead. To disable deprecation,
use CRT_SECURE_MO_WARMIMGS. See online help for details.

/* Programming Exercise 4-1 */
#define _CRT_SECURE_NO_WARNINGS (1 3k
#include <stdio.h>

sint main(void)

{

#define CRT_SECURE_NO_ WARNINGS
#include <stdio.h>

//

-int main(void)

{

char fname[40];
char lname[490];

// =X (Body);
// scanf() A}
// fopen() A
return 0;
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printf("0|&(first name) 2LH: ");
scanf("%s", fname);
printf("A(last name) {=: ");
scanf("%s", lname);
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printf("%s, %s\n", lname, fname);
return 9;
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2 #include <stdio.h> gdefine CRT SECUR

3 |#include <string.h> #include <stdio.h>
4 =int main(void)

C¥Windows¥system32%cmd. sxe

char fname[40];(1

int fieldwidth; W, cyber . co. ki~

printf("0|E R=: "); KRN s
scanf("%s", fname);(2 www,cyber . co.kr
fieldwidth = strlen(fname) + 3;

printf("\"%s\"\n", fname); (3
7k'printf(“\“%2®s\“\n", fname); (4

printf("\"%-20s\"\n", fname); ¢
printf("%*s\n", fieldwidth, fname);
return 0; =

0= 2=t www.cyber.co.kr

www . cyber .co. kr”
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2/* Programming Exercise 4-3 */ #define CRT_SECURE_NO_ W
#include <stdio.h> ~ #include <stdio.h>
-int main(void) =

{ Ri2= Olel: 123.456789
. 12 123.5 or 1.2e+002.
double value
> 1 1 +123.457 or 1.235e+002.

= IIH e e .
printf("F5 28+ YH:

*scanf("%lf", &value); 2
printf("A4+H H7|: %.1f or %.1le.\n", value, value);
printf("X|$ &E7|: %+.3f or %.3e.\n", value, value);
return 9; 3
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1=2/* Programming Exercise 4-4 */
2| |[#include <stdio.h> #define CRT_SECURE_NO_WARINGS
39int main(void) #include <stdio.h>
CWindowsWsystern32%cmd exe
float height; 3
char name[40];

printf("QIX| Q9| 7| R (74.496): ");

scanf("%f", &height); (2

printf("0|2 22: ");

scanf("%s", name);

printf("%s, &2 %.3f O ERL|C.\n", name, height /
return 0, 3
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7H810|E (MB) QIX| QSIEE Q&5 T2 S KHstat.
o] Z213He mUoj ZE AIZHS AABHA E2HoF Bict.

1H[O|E= 8H|EE}= We Ensta.
floatdE At&sti LIS fI5H /& ARSI
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D2 e N 74K 3 BE (A4E, WY 37|, CheRC AN E
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1 -#inc%ude i:stdio.h:» #define CRT SE
2 #define bitsperbyte 81
3 =#int main(void)

#include <stdio.

float mbs; // Mbs/=
float file_size; // ItY 37| MB
float download time;

printf ("= 2 HI7HE[ECIX] &F: ");

scanf("%f", &mbs); (2

printf ("Lt 37| (0 7}HIO|E MB): ");

scanf("%f", &file size);

download time = bitsperbyte * file size/ mbs;

printf("X& %.2f 7H|E, %.2f O0|7}H}IO|E ImtUS\n",
mbs, file size); 4

printf("%.2f =0 CF2EZE=3C}.\n", download _time);

return 9;
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1=/* Programming Exercis 16 flen strlen(fname); (3
2 #include <stdio.h> 17 llen = strlen(lname); #define _CRT_SECURE_NO_
3 #include <string.h> (1) 18 2 #include <stdio.h>
4 =int main(void) 19 printf("%s %s\n", fname, lname);
20 printf("%*d %*d\n", flen, flen, llen, llen);
char fname[40]; 21 printf("%s %s\n", fname, lname);
char lname[40]; 22 printf("%-*d %-*d\n", flen, flen, llen, 1llen);
int flen.; /* Ol% “23 r‘etur‘n @.; © rﬂC:-'r"r'l.-'-.-""v::ln::l'l.'.'s'ia'r"i-}"E-tE:n;‘i"-.lx‘:r‘ﬂ::l.-EJr{»:a_-.I —
int llen; /* & Z(24 } O|Z(first name) 2
A(last name) 2!
printf("0O|&(first name) Y=H: "); AnDang Sung
scanf("%s", fname); 5 AnDang Sung
printf("A(last name) Y=H: "); 5 4
scanf("%s", lname)ﬂ
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o f® 1 1 _7. o®=d
1 x P ro g rammin g E XE€rcise 4 7 C:¥WindowsWsystem32¥Wemd.exe

2 #include <stdio.he float values: 0.3333 0.333333343267 0.3333333432674408
R LT IR AL PR RY gl (o b e values: 0.3333 0.333333333333 0.3333333333333333

"""""""""""" FLT_DIG: 6
DBL_DIG: 15
float ot £ = 1.0 / 3.0; (2
double ot d = 1.0 / 3.9;

printf(“float values: ");
printf("%.4f %.12f %.16f\n", ot_f, ot_f, ot_f);

printf("double values: ");

printf("%.4f %.12f %.16f\n", ot d, ot d, ot _d);
printf("FLT _DIG: %d\n", FLT_DIG); 4
printf("DBL_DIG: %d\n", DBL_DIG);

return 9;
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=~aist HP I(mlles) 100
T2 s AA A H|2 ?IH_F O] ¢ (gallnns): 30
T ZRaAU s Aa 6  ABI2E 3.3 mpg = 70.6 |iters / 100 kn

:fl'l'inClutfle <S-Fdlﬂ'.h> pplntf("?‘:ﬂ“{:}l_l- 7—|E|(mlles): ")-;
“int main(void) scanf("%1f", &miles);(2

{ printf("AH[TH SH RO Y(gallons): ");
1 'const double LIT_PER_GAL scanf("%1f", &gallons);

Y const double KM _PER MI =

double miles; mpg = miles / gallons; (3
double gallons; lit_per_100km = (gallons * LIT_PER_GAL)/

double mpg; 4) (miles * KM_PER_MI / 100.0);
double 1it per 100km;

1
2
3
4
5
6
7
8
9

[
@

printf ("= AH[Z %.1f mpg EE= " \ye
"%.1f liters / 100 km\n“,
mpg, lit per 100km);
return 9;
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= const :
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Thank you !
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